A hFRFHE

7H258(A). 268(X) Vil
[BF]
\ S 23" 45 (£00m) %
H@200m m W= ERBE 23" 42 (—03m) %
*@110mH 5 WE 19" 07 (+06m)
RE 45
{E2244%100m R f’g %E 517 46%
B ZEI)
TE #wWHE
. = g
#3584 X 100mR gi _’EE 47" 15
FH S
D 5m53 (+0.7m)
wEEnE LB A iﬁ o
OB AR kA EfE NM
[£F)
£E200m| ME ANE 29" 36 (+0.2m)
HE Bt 19" 31 (+05m)
\ 22 15" 09 (+0.6m)
TBIOOMH = o SERBE 14”7 90 (+0.1m)
B 14”7 70 (+15m) B3k
LA 7R
(E24£4 X 100m R %’J: %*f‘éﬁi 56" 84%
INE E
HERE =1
. B ¥= "
semaxioomR|  OF PR 54" 87
BEE &3
wmes| | EwE = iﬁ T i
I8 £ hE Bk INE E NM
tEmne]  tm B T0m30%
398 AR WNE EZ 23m26
100mH 18" 96 (—04m)
EEB NM
HEmERE H OHDHO s 6m8t

200m 30" 78 (4+0.9m) *
1146 2

*=PB (/S—YFILRX}N) -BOHIH - -

W=t #E PR 5

" JL—@EF—LXRX




